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Z:(1000)LErI A | 2H:(1200) L BHEH A H] 81 (1240) KHX| 84 & HIBt: (1245) AFBI R & MUK : (220) RERI A [ERH][c2HH]
o = S R im)
ol & o Ab = ol =
a2 & NE MAlE =2 off &b oA = A

oJ|H HEel =2 EZEZ2AHL=300m)
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oA AH12 HE(Z2UH) ZH2AH(1A])
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oI U2l 2B T2 & 2 AHL=350m)
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oJIH 2H22 Alls s2 Z&SAHL=300m)
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o = S R im)
e = &t 5 | =
.2 HIE A = Of & M = oA 2

o=X 5t=2l DSt SHEFIZAHL=300m)
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oJI= el 52 EAZAHL=400m)
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oll= 842 S2EH ¢ T423AHL=300m)
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At = Il =
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Z:(1000) LB A H| 2 (1200) L B M H| &k (1240) KR8 A KISt: (1246) 01 2tg| NIAISE: (120) d & &= A H| [ERH] [ HH]
t = ST I == e Im]
o e = & £ p) ES
& HIE. M AIE = of & o = A 2
3,600 3,600 0|04 ENSHHL2FXH|
CEMUAR XY (MR :259) 300,0002x128 = 3,600
301
QEtE A2 16,091 12,992 3,099
16,091 12,992 3,099/08 22 Z22IBAZ
CBADRQA(ANREX)
-J23 39,900 x7S x12& = 3,352
- &3 3,352,0008%x2/12 = 559
- SA| 4, 0002 x7Hx25ex12& = 8,400
- WEH| 1,600&x7EHx252x12& = 3,360
- T Sy 15,0002 x7H x4 = 420
200
A O A 175,059 21,236 153,823
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405
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CHANE=HND| 3,000,000 x108 = 3,000
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o= M3 nH 2 27,5002x20CH = 550
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110
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OXSXl HIDIA - 2BAY 4 BX02
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STHAAI, SEMN BNXE HleX
28,8602 x 12 x40 x23] = 2,309
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201
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- NE2e GRFa Lot=EH| 24,070,000& = 24,070
- ADXAM 7ol
- FSA 70,000&x408t A = 2,800
- SEA 70,0003 x608f A = 4,200
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- =EAI(SE) 70,000&x702t A = 4,900
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70,0003 x28f Ax 122 = 1,680
- HAAI(S 8 70,0003 x708f A = 4,900
- BEM(SE) 70,000& x758f A = 5,250
- RAN=IXA 70,000& 22 Ax17SBHES = 2,380
- MUHAIZIAE 2 =8 BMUWSA
- FHSA 55,000&x12fAX17IHSEHSES = 935
SSA 55,000&x 12 AX17HEHS = 935
- HOlAl 55,0003 x12fAX17HSEHSES = 935
- XS XA 55,000&x 12 AX17IHSEHE = 935
=2Al, AP A 55,000&x102H A = 550
- KH&EA 55,000&x2&x15% A = 1,650
- SEHEXA 55,000&x3&5x15H A = 2,475
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((1250) & 2 e Mg (1251) M & 2t el

NIAIEE: (120) B & = I

m
40

]

in
=

Ol

= Il

P

A
ne=

IE

2 AES 4

13,120,000&

diOld Zel & JtECIX Y

- NS XA

- FOAL, AP A

190&x6,0002x 170 S

400,000& x 15CHx23!

400,000&x17CHx 12l

2,500,000 x 1CH

480,000

1,490& x30021x 122/

190&x1,5002A4x17 M SHS

190&x70,0004 x23]

o=

—

13,120

12,000

6,800

2,500

480

5,364

4,845

26,600
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X (1000) L BFEE Al 2H:(1200) L EHYF H] F: (1250) A 22 Mg (1251) M= 22 HIAIES: (120) B A= A Y| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = o & o4 = A 2
CTHAN S012E 1,4902%x4,00024 = 5,960
CTHAY YEre B 1902/x76,00021 = 14,440
ESSEXN SII2H 1,4902%4,80024 = 7,152
ESSEXNM LetH 1902/x80,0002 = 15,200
NEXMN SII2® 1,4902%3,0004 = 4,470
o6. 22|
- 2N2Y 22 5,160,000% = 5,160
- FEHMN, SEH YD 022X 24
5,000%x60x1 2Ux 123 = 3,600
- FOINl, MHEXM S22 022X 24
5,000 x4%x 102 x123] = 2,400
~ THALAL, ZSSEXIM 2 0222 X 24!
5,000%x4ox1OEx12§| = 2,400
o9 Al &Y S XYl
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T:(1000) L PSR H B (1200) L EH HH| 51 (1250) K & 22| A (1251) M F 2tel HIAIEE: (120) 2 &= 2 b [2rE](ce:de]
o = S R im)
of & o AF 2 ol =
.2 HIE A = Of & M = oA 2
- MADD| X2l 22| 1,200,0002x 128 = 14,400
- OCR D&TREI| FAZE 24|
380,000 x52 = 1,900
202
GE] 47,320 47,120 200
47,320 47,120 200(01 2LHOIHI
oFLYUL FANH| 10,0002 x22H x6Lx 125 = 15,840
CHRYP FTHHI(SS) 15,280,0008 = 15,280
SHSH, SEN BHMZ L HALS
40,0002 x5 X3 x53] = 3,000
oFUAN, NSIAH FUXNE ZA
40,0002 x4 % x3L 53| = 2,400
STHAK, ZEEXA BMI2 L HMAL2
40,0002 x4 x3L x53| = 2,400
SHRNS L 5|2 (Es]) &
40,0002 x3ZEx2L 13| = 240
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ZH:(1000) LEFAEH] 2 (1200) L BHEH A H] Sh: (1250) K& 22 Mg (1251) M= 22 HIAIES: (120) B A= A Y| CEENECEE]
ok = 7S I R == ] im}
o & = At = 0 2
Xt BB MIE. HIMIE = o & M = A 2
OHIRFYR TA L MM Ha(MHAL)
40,0002 X3 x32x53] = 1,800
SHLYM SXNEXN Ay =2
10,0002 x5 x4 x 123 = 2,400
SR LM =210 40,0002 x4%x32Ux63] = 2,880
oEHXUZ U BUYSAH HXIXA
40,0002 x3% x32x33] = 1,080
203
HREXY| 3,600 3,600 0
3,600 3,600 0/04 BAH2HLZZRIY
CENSYARZRIH| (M 24Y) 300,000 x12" = 3,600
204
XA 26,400 23,040 3,360
HI
26,400 23,040 3,360|03 EXAR LSS H
o NRYPAsHESH 100,000 x22%Hx 128 = 26,400
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(=220

o o S| | N -
S A
3,100 69,629 66,529
3,100 69,629 266,529
3,100 69,629 66,529
3,100 69,629 A66,529|01 XAt SE 5 S
cQISI(UNsELS) 2,500,000 x1CH = 2,500
oTV FE(UAdE) 600,0002x1CH = 600
130,014 130,029 A5
130,014 130,029 A5
5,195 4,988 207
5,195 4,988 207
5,195 4,988 207 |10 LAIAtS RIS
oXNA LLEA 2 U238
28,8602 x 12 x602x3 = 5,195
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Mgt dHEel ORI2Z2A4 =4

=+ (1000) 2+ (1200) L(1250) TH & 2+2) HIBH: (1252) & 2 22 HIKIB: (120) B A& 24 (SR
n = < | H ml
A = ES
Xt BB MIE. HIMIE = = AU
CRIEA HMe2E 2,0002x2,00024x23] = 8,000
DO Mtz 150,000 x2058] = 3,000
ZZQIUHA
MEgDIAM L A2ENM L5
2E2H 1902/x60,0002 = 11,400
SoI2H 1,4902%16,000H = 23,840
0IEaY BRSEX B2
1,490 x200 24 x63 = 1,788
ZEHHEB(H2)M=2 22
2,000 x500% x2 3 = 2,000
22|
KISAl, HSl&e &drel o2 X
5,000 x3% x20 2 x83] = 2,400
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Z:(1000) Lt FHl 2 (1200) 2L EHAF I g (1250) & 2e| Mg (1252) F =2t Mg (120) 2 &t = FH [SRE] [ HH]
o = S R im)
of & o AF 2 ol =
.2 HIE A = Of & M = oA 2
5,000& x6E x10&x123] = 3,600
9. AlE FHIR XIb|
- ZUE Z3JI(PDA) RXI24H
100,000&x12& = 1,200
301
2etEag 16,091 15,153 938
16,001 15,153 938|08 SU2RRELYS
cZATLQAA(AREX)
-Jlzs 39,9003 x7Ex128 = 3,352
- o0z 3,352,000&x2/12 = 559
- S| 4,000 x7Yx25Ux128 = 8.400
- W] 1,6003x7Ex25¥x128 = 3,360
- EHe g=2d 15,0008 x7&Ex42 = 420
303
ZAS 25,000 25,000 O oXIgAl MY B4+EN3
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ZH:(1000) 2 Bred® ] 2:(1200) 2 EHH F HI &t (1250) M E &el Mg (1252) F =2t NIAIEE: (120) B & = I (=73

RSP SR S M
t = ST I == e Im]
o & = At = 0 2
VBB MEHIMIE = o & M = A 2
- 3= 300,000,000 x5/100 = 15,000
- gus 200,000,0002x5/100 = 10,000
1253
32 345,872 457,010 A111,138
100
A0 A 171,333 163,669 7,664
120
AR A Y| 171,333 163,669 7,664
201
QB2 AH| 168,554 163, 189 5,365
168,554 163, 189 5,365|01 LBt AH|
o1, YBtA 2|
- S H & DJ|EI==2H| 7,000,000& = 7,000
- MOt E BRI EAR 200,000 x128 = 2,400
o3 . Z2Q2YUMA
- M= 4,000,000 x12& = 48,000
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Z:(1000) L EBFSY | 2H:(1200) QS H] & (1250) B 22 Mg : (1253) 3 Al 2 el M8 (120) 3 & = 2| [E7E] [ M
2 = & 49 = | g im|
Of &F of &k = Jl =
I 2 IS HIAIE 2 AN
- AT 300,000 x128 = 3,600
- XY 2B MMSUS(FE)
== 810,000&x4C00 = 3,240
=3 663,000 x40 = 2,652
RS 650,000 %900 = 5,850
- BANEREZ
NES 350,0002x23 = 700
281 50,0002 x15CHx28] = 1,500
S 100,0008x13] = 100
- ISERYRHZ 3502 x4,563m x0.82x50/100 = 655
o5, Il =l
- WA I=7Y 60,0002x7%Hx18] = 420

_59_




X (1000) L BFEE Al 2H:(1200) L EHYF H] 8 (1250) T & 22 Mg (1253) 31 H 22 HIAIES: (120) B A= A Y| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
o6. 22|
- SHSYUANESEE L DAIUEDA OIA22X 24
5,0002 x4 x82 x123] = 1,920
o8. A2 H|
- w2(0) 6902X0.9 £ x95UXBAI 2tx7CH = 3,304
- 2Z)) B90Rx20 £ x95U X100 = 13,110
- g2y
,33221x952 x 17,000k / 100, 000kl x8 Al 2+x2CH = 603
o9, A& EH| S X
- ASSXE 2| 3,3622%x4,563m = 15,341
- JIEIAE S22 4,680,000 = 4,680
©10. X2 BH|
- 58(5%) 4,240,000 %200 = 8,480
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2 (1250) HE 22l KIgt: (1253) 32 22l HIKIEH: (120) 2 4= 2| [(=28)[o9: 88
w (B8 = ) N = ) =
2B ME L AIAE o & % = oA
- 52(3¥) 3,757,00080x2H = 7,514
- sS4 2,886,0002Ix30H = 8,658
- 32(28) 2,974,0002Ix50H = 14,870
- 32(58) 4,202,000&x10H = 4,202
- s8(58) 2,714,000&x10H = 2,714
- S8 (28) 2,347,0002x30H = 7,041
301
st A 2,779 480 2,299
2,299 0 2,299/08 BA2LRALAS
oZUILQANREZR)
-Jlza3 39,900 x19x128 = 479
- &013 479,00021x2/12 = 80
- 4| 4,002 x19x252x128 = 1,200
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X:(1000) L BFEE Y| 2+ (1200) LB Y] 8t (1250) TN & 22 KB (1253) 3] H 22l HIHIE : (120) 2 A =2 Y| EEENEERE)
Ot = P I H ml
of &b o AF = 9l =
BH MBI A E =2 of A M| = A 2
- NEY| 1,6002x18x252Ux128 = 480
- CoEss 15,0002 x1%x42 = 60
480 480 009 S#ALAIHIE A2
oUWl S2EIIAMSUSE IS o]
40,0002 x6% x2 = 480
200
A Ofl AF 174,539 293,341 A 118,802
220
KERI AL 174,539 293,341 A 118,802
401
Al&H e 110,000 261,152 A151,152
e
110,000 260,000 A150,000(01 Al&HI
SEHAHERHANLHL TMHBA 20,000,000 x14! = 20,000
SHA(ERHANU 3= DA
10,000, 0002 x37H & = 30,000
SEHAEPRHANGIEA HEAEZ A
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g (1250) & 2e|

NI (1253) 8l 2tel

MIAIE: (220) REAIAHS

o
0

]

o 34 & ] mi o ) =
s A
20,000, 000& x2H 2~ 40,000
SHA(XXIHE D, Seel Sa=3A
20,000,000& x 14 20,000
64,539 32,189 32,350
64,539 32,189 32,350/01 AHH =S FSHI
oL SHIF wil
- ISR E) 89,870& x 1514 1,349
- B (EF) 111,980 x 10K 1,120
- A (L) 171,900& x5H 860
- A 102,900& x5 515
o2ZJ| 2 (258 014) 1,129, 000& x3CH 3,387
o2 (208 04 2,827,000 x4CH 11,308

o

]

i 74
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&:(1000)YeHe 8 (1250) T 2rel Hg: (1253) 8 22l Kl I & (220) KHH AL [S23][ce: ]
d 4 = | 4 i
ah o b = pJ e
.2 8 MNIE . MIAIE G & =5 A A
- ABFAA gé.( H-cH+SE)
20,000,000 x 1 CH = 20,000
- WEH SE(UH-R5IIHE f SHEEHE NCHHE)
26,000,000 x1CH = 26,000

11,168,745 10,563,916 604,829
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